L6

fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:

2,3-2,3x3+15%x4,3+5= 1_1_5x4’5:

6 2
3 1 3
I 12xZ=+4—-4x%x2.5= 2,6+ -=x5-57=
4 6 ’ 4 ’
2+4,2-3%3,8= 4+%+4X4,9:
1 2 3
——4,5-4%x3,9= Z+12x2,9+4+2%x = =
4 9 9 3 > 5
5,6+2,6x4+3,7= 1 1,1

4 5 2
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%W i % * ‘ fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
2,3—2,3X3+15X4,3+5=%=8% é—%—5X4,5=(—13?7)=(—222)
%—IZXé+4—4><2,5=(—34—9)=(—9%) 2,6+%X5—5,7=£
2+4,2—3><3,8=(—25—6)=(—5%) 4+§+4><4,9=%=24%
%—4,5—4>< 3,9=(—%)=(—19;—(7)) §+12X2,9+4+2X§= 331—7= 10;—(7)
5,6+2,6X4+3,7=%=19% %——X4—%:(_%):(_1%)
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